
In[1]:= H* Van der Waals model *LH* ------------------- *L
a = 0.1;
b = 0.1;
n = 1;

In[4]:= H* equation of state *LH* ----------------- *L
p@t_, v_D := n*t� Hv - n*bL - a*n^2�v^2

In[5]:= Plot@8p@0.325, xD, p@0.3, xD, p@0.275, xD, p@0.25, xD<, 8x, 0.1, 0.5<, PlotRange ® 80, 1<D
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Out[5]= � Graphics �

In[6]:= H* Gibbs Free Energy *LH* ----------------- *L
g@t_, v_D := -n*t*Log@v - n*bD + n^2*t*b� Hv - n*bL - 2*a*n^2�v

In[7]:= tt = 0.9*0.295;
ParametricPlot@8p@tt, xD, g@tt, xD<, 8x, 0.13, 1.2<D

0.15 0.25 0.3 0.35 0.4

-0.16

-0.14

-0.12

-0.08

-0.06

-0.04

Out[8]= � Graphics �
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In[9]:= ParametricPlot@8p@tt, xD, x<, 8x, 0.13, 1.2<D
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Out[9]= � Graphics �
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